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N.B. - 1) write any 2 questions from each question.
2) All questions carry equal marks.
3)Figures to the right indicate marks for the sub question.

Q.1. a) Give the definition of public administration. Discuss the POSDCORB view by Luther

Gulick. 10
b) Explain the concept of new public management. 10
c) Write note on evolutionary phases of public administration 10
Q.2 a) Discuss on Scientific Management Theory by F.W. Taylor. 10
b) Explain the ideal model of bureaucracy by Max Weber. 10
¢) Distinguish between theory X and theory Y by Macgregor. 10
Q.3. a) Explain the administrative advantage of decentralization? 10
b) Write a note on administrative Leadership Theory. : 10

c) Give the definition of organization and discuss fundamental features of
organization. 10
Q.4. a) Elaborate the basic characteristics of good governance. 10
b) Write essay on “future of E- government in India” 10
¢) Explain the various elements of Public - private partnership. 10

Q.5. write a short note. (any two)

a) Role of public administration 10
b) Types of organization 10
c) Centralization 10
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